HENEREREES i
SH5F12H12H (K)

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
BERXFE 44 [ESX 173.9 2,166 100
N 54.2 1,000 20
F+77>39 39.5 1,200 1,000
HFHS 25.9 50 20
>0OX/)VUl 52.2 2,155 800
AXF 26.1 640 100
hIA 23.2 20
JdEHAN 26.6 129 20
TRORD 47.8 1,500 20
HY= 157.5 2,640 809
<45 29.6 950 300
BHE 18 Ry FHA 255.7 579 283
NC 338 ESWYXHZ 56.4 813 250
EXTYRS 53.5 101 89
astyE 1,022.1




[;Efa] (BT ¢ kg )

RIS miEE 0 2 = 1B Z B fm =
EEREINE 44E [ESH 1,199.6 2,300 700
13 LA 66.4 1,100 600
TaHLA 43.5 800 300
5 26.7 2,000 400
<4 114.4 900
Uil 28 AXF 23.7 750
M0 23& ES X 84.0 2,400 1,000
e 33& <4 2,969.4 1,250 900
artu= 4,527.7




